LOS ANGELES AREA	CERTIFICATE	OF ORI	GIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Numbe	r: <b>LA-COO-594</b> e: May 01, 2025	480-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel	Port of Loadin Los Angeles	ng
Wilmington CA USA	Destination Country Taiwan	Destination P Taipe	ort
Consignee	Export Date	Exporting Car *********	rier
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading	/ AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding A	gent
Buyer (Importer)	Remarks		(a) 4 (27) (a)
	Consignor reference: ACE1052.WF		
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	(ind of Packages.)	Weight	Country of Origin
Hazy Little Thing (6.7%) - 355ml cans		92.00	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans Cosmic Little Thing (8.0%) - 355ml cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans	co la	92.00	United States
Hazy Little Thing (6.7%) - 355ml cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans Cosmic Little Thing (8.0%) - 355ml cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans Tropical Little Thing (7.0%) - 355ml cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans	MARRA	92.00	United States
Hoppy Little Thing (5.0%) - 355ml cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans	RIGIN	92.00	United States
Hazy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases		92.00	United States
Hop Tropical IPA (6.5%) - 355ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 cases	*	184.00	United States
Rad Little Thing WC Hazy IPA (7.0%) - 355ml 4x6pk case of alumi H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 cases	num cans	184.00	United States
Name of Authorized Trade Association	The above-mentioned goods origin origin applicable in the country(ie -The information in this certificate Commerce ("LAACC") is accurate. -The Applicant undertakes to adv Certificate (or to whom the Certifi of any inaccuracy, omission or ch -The Applicant will maintain, and truth, accuracy and completeness: -In consideration for the LAACC's hold harmless LAACC from any lit LAACC in respect of any costs an	pinate in the country(ies) specif s) to those goods. s and in any documents provide true and complete. ise LAACC and any other person cate is provided to with the kno ange in such information, or in present upon request, such doc s of this certificate and accomp issuance of this Certificate, the ability in connection with the iss d/or claims made against LAAC	umentation as is necessary to verify the anying documents. Applicant agrees to release, discharge and suance of this certificate and to indemnify to in connection herewith.

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTI	FICATE C	OF ORIC	GIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, GO VERIFY.FTGS.U		<b>LA-COO-594</b> May 01, 2025	80-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel		Port of Loadin Los Angeles	g
Wilmington CA USA	Destination Coun Taiwan	try	Destination Po Taipe	prt
Consignee	Export Date		Exporting Carr	ier
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit Nu	mber	Bill of Lading ,	/ AWB
Taiwan	Owner or Agent		Forwarding Ag	gent
Buyer (Importer)	Remarks			<b>a</b> k 22 a
	Consignor refere	ence: ACE1052.WF		
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Packages.)		Weight	Country of Origin
Juicy Little Thing (6.5%) - 355ml 4x6pk case of aluminum cans		S	92.00	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases Hoppy Little Thing (5.0%) - 355ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases	CON	S	92.00	United States
Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 40 cases	MERCE	5	596.00	United States
Torpedo IPA (7.2%) - 355ml bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 474 bottles 🔵	RIGIN	2	294.27	United States
Electric Torpedo IPA (7.5%) - 355ml bottles d Chamber U H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 474 bottles		2	294.27	United States
Atomic Torpedo IPA (9.2%) - 355ml bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 474 bottles		2	294.27	United States
Phantom Torpedo IPA (6.0%) - 355ml bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 474 bottles	ATIO	2	294.27	United States
REA CHAMBED	MBER OF COTHERS	e above-mentioned goods originat jin applicable in the country(ies) to i nformation in this certificate and merce ("LAACC") is accurate, true e Applicant undertakes to advise L tificate (or to whom the Certificate iny inaccuracy, omission or change e Applicant will maintain, and press. h, accuracy and completeness of t consideration for the LAACC's issue	e in the country(ies) specifi those goods. and complete. AACC and any other person is provided to with the know e in such information, or in ti ent upon request, such doct his certificate and accompa ance of this Certificate, the y in connection with the iss claims made against LAAC	umentation as is necessary to verify the anying documents. Applicant agrees to release, discharge and uance of this certificate and to indemnify C in connection herewith.

-

- -

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERT	IFICATE	OF O	RIG	IN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTO	GO TO Certificate Number	LA-COC May 01, 202	<b>D-5948</b>	0-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Typ Vessel	e		f Loading Angeles	
Wilmington CA USA	Destination C Taiwan	ountry	Destir Taipe	nation Port 9	
Consignee	Export Date			ting Carrier	
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit	Number	Bill of ******	Lading / A	WB
Taiwan	Owner or Age			rding Agen	it
Buyer (Importer)	Remarks				निक अक्त
	Consignor re	ference: ACE1052.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	(ind of Package	5)	Weigh	it	Country of Origin
Big Little Thing (9.5%) - 568ml 15pk case of aluminum cans		5.)	168.75		United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 18 cases					
Pale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 75 kegs Hazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 50 kegs			1,867.50		United States
Hazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 50 kegs		1,245.00		United States	
Torpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 30 kegs FORIGIN			747.00		United States
GERTIFICATE OF G			249.00 U		United States
H.S.Code: 2203.00.0000 Marks: Slerra Nevada, 10 kegs Local Cantina Mexican lager (4.8%)- 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases			120.00 United St		United States
True Brewmance WC IPA (7.1%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases			120.00		United States
11.0.0006.2203.00.0000 Marks. 0 bit, 10 cases and 1					
REA CHAMBED	nber US2100201	Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pu truth, accuracy and completeness -In consideration for the LAACC's is	nate in the country() to those goods. and in any document rue and complete. e LAACC and any o ate is provided to winge in such informs esent upon requess of this certificate and submost of this certificate and submost of this certificate and submost of this certificate and for claims made ag	(ies) specified a nts provided to ther person(s) t ith the knowlee ation, or in the o t, such docume nd accompanyi tificate, the App with the issuan jainst LAACC in	above and comply with the rules of the Los Angeles Area Chamber of to whom the applicant provides this dge of the Applicant) promptly in writing origin of goods. Intation as is necessary to verify the ng documents. Jicant agrees to release, discharge and ce of this certificate and to indemnify

2025
May 01,
e17e3cb /
-6813a5e
<b>D-</b> 59480
-A-CO

-

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTIFIC	CATE O		GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, GO TO C VERIFY.FTGS.US	ertificate Number : LA Date : May		80-6813a5e17e3cb	
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel		Port of Loadin Los Angeles	g	
Wilmington CA USA	Destination Country Taiwan		Destination Po Taipe	rt	
Consignee	Export Date		Exporting Carr	ier	
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit Number		Bill of Lading /	Ϋ́AWB	
Taiwan	Owner or Agent		Forwarding Ag	Forwarding Agent *********	
Buyer (Importer)	Remarks			(514-279) (51	
	Consignor reference: A	CE1052.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	(ind of Packages )		Weight	Country of Origin	
God Of Pour (7.1%) - 473ml 6x4pk case of aluminum cans	and off ackages.)	120.	.00	United States	
H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases					
The Gallery Hazy IPA (7.5%) - 473ml 6x4pk case of aluminum can	s	120.	.00	United States	
H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases					
The 8th Wonder Hazy DIPA (8.0%) - 473ml 6x4pk case of aluminu H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases	m cans	120.	00	United States	
Mario Tart: Pharaohs Circuit (6.3%) - 473ml 6x4pk case of aluminu H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases TEOFO	im cans	120.	.00	United States	
The Eye of Souron Sour DIPA (9.1%) - 473ml 6x4pk case of alumi H.S.Code: 2203.00.0000 Marks: 8 Bit, 10 cases	num cans	120.	.00	United States	
Mango Con Crema Imperial Sour Ale (8.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases		120.	.00	United States	
Space Craze Hazy IPA (6.5%) - 473ml 6x4pk case of aluminum ca H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases	ns	120.	00	United States	
Name of Authorized Trade Association	<ul> <li>The above- origin applic</li> <li>The informa</li> <li>Comerce (</li> <li>The Applica</li> <li>Comerce (</li> <li>The Applica</li> <li>Certificate (</li> <li>of any inacc</li> <li>The Applica</li> </ul>	mentioned goods originate in t able in the country(ies) to thos ition in this certificate and in a "LAACC") is accurate, true and nt undertakes to advise LAACC or to whom the Certificate is pr uracy, omission or change in s int will maintain, and present u kcy and completeness of this c ation for the LAACC's issuance	he country(ies) specifie se goods. ny documents provided complete. C and any other person( ovided to with the know uch information, or in th pon request, such docu ertificate and accompa of this Certificate, the <i>i</i> - connection with the issues no made against LAACC	mentation as is necessary to verify the nying documents. Applicant agrees to release, discharge and uance of this certificate and to indemnify C in connection herewith.	

- -

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTIFICATE	OF ORIO	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number VERIFY.FTGS.US Date	: <b>LA-COO-594</b> : May 01, 2025	80-6813a5e17e3cb	
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel	Port of Loadin Los Angeles	g	
Wilmington CA USA	Destination Country Taiwan	Destination Po Taipe	prt	
Consignee White Fox Clobal Co. Ltd	Export Date	Exporting Cari	ier	
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading	Bill of Lading / AWB *************	
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Ag	jent .	
Buyer (Importer)	Remarks		<b>同本 322</b> 同	
	Consignor reference: ACE1052.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages )	Weight	Country of Origin	
Full Blaze WC IPA (6.5%) - 473ml 6x4pk case of aluminum cans		120.00	United States	
H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases				
Westliner West Coast Pilsner (5.5%) - 473ml 6x4pk case of alumin H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases	um cans	120.00	United States	
Ghost Bat Hazy IPA (6.6%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Casa Agria, 15 cases	MERC	180.00	United States	
Solimar West Coast IPA (7.0%) - 473ml 6x4pk case of aluminum ca H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases	ans	120.00	United States	
Fully Blazed DDH WC IPA (6.5%) - 473ml 6x4pk case of aluminum H.S.Code: 2203.00.0000 Marks: Casa Agria, 10 cases	a cans <sub>)201</sub>	120.00	United States	
Gandalf the Crisp (5.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Ambitious Ales, 10 cases		120.00	United States	
Professional Human Being Hazy IPA (7.2%) - 473ml 6x4pk case of H.S.Code: 2203.00.0000 Marks: Ambitious Ales, 10 cases	<sup>:</sup> aluminum cans	120.00	United States	
Name of Authorized Trade Association	The Applicant (or the Applicant on - The above-mentioned goods origin origin applicable in the country(iee - The information in this certificate Commerce ("LAACC") is accurate, - The Applicant undertakes to advis	inate in the country(ies) specifi b) to those goods. and in any documents provided true and complete.	lizing this document, certifies that: ed above and comply with the rules of d to the Los Angeles Area Chamber of (s) to whom the applicant provides this	

Commerce ( LAACC ) is accurate, true and complete.
-The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this
Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
of any inaccuracy, omission or change in such information, or in the origin of goods.

of any inaccuracy, omission or change in such information, or in the origin of goods. -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN

BERS FE

dited Chamber US21002

CHA

USA

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL		
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : VERIFY.FTGS.US Date :	LA-COO-5948 May 01, 2025	80-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles	
Wilmington CA USA	Destination Country Taiwan	Destination Por Taipe	t
Consignee	Export Date	Exporting Carrie	er
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit Number	Bill of Lading /	AWB
Taiwan	Owner or Agent *********	Forwarding Age	ent
Buyer (Importer)	Remarks		<b>同次32</b> 日
	Consignor reference: ACE1052.WF		
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)	Weight	Country of Origin
Tiger Den WC IPA (7.2%) - 473ml 6x4pk case of aluminum cans		120.00	United States
H.S.Code: 2203.00.0000 Marks: Ambitious Ales, 10 cases Batman Rapids WC IPA (7.5%) - 473ml 6x4pk case of aluminum ca H.S.Code: 2203.00.0000 Marks: Ambitious Ales, 10 cases	ans	120.00	United States
Berry Shower (7.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Ambitious Ales, 10 cases	MERCE	120.00	United States
Revision IPA (6.5%) - 355ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		92.00	United States
Revision DIPA (8.0%) - 355ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	62100201	92.00	United States
Dr. Lupulin 3x IPA (11.3%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		120.00	United States
Emerald Bay (6.4%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	110	120.00	United States



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA	CERTIFICATE	OF ORIC	CIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number VERIFY.FTGS.US Date	E LA-COO-594 May 01, 2025	80-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles	9
Wilmington CA USA	Destination Country Taiwan	Destination Po Taipe	rt
Consignee	Export Date	Exporting Carri	er
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit Number	Bill of Lading /	AWB
Taiwan	Owner or Agent	Forwarding Ag	ent
Buyer (Importer)	Remarks		निक्ष अक्ष
	Consignor reference: ACE1052.WF		
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	Kind of Packages.)	Weight	Country of Origin
Disco Ninja Northeast-Style IPA (7.0%) - 473ml 6x4pk case of alur	ninum cans	120.00	United States
H.S.Code: 2203.00.0000Marks: Revision Brewing, 10 casesVegas As Fuck (6.5%) - 473ml 6x4pk case of aluminum cansH.S.Code: 2203.00.0000Marks: Revision Brewing, 15 cases	COA	180.00	United States
Reno As Fuck (8.4%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 15 cases	MERCE	180.00	United States
Revision IPA (6.5%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 9 kegs	RIGIN	198.00	United States
Disco Ninja Northeast-Style IPA (7.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs		176.00	United States
Reno As Fuck (8.4%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 6 kegs		132.00	United States
Vegas AF (6.5%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 6 kegs	510	132.00	United States
Name of Authorized Trade Association	<ul> <li>The above-mentioned goods origin applicable in the country (ierrigin applicable in the co</li></ul>	inate in the country(ies) specifie s) to those goods. and in any documents provided true and complete. Se LAACC and any other person( ate is provided to with the know ange in such information, or in th resent upon request, such docu of this certificate and accompa ssuance of this Certificate, the A bility in connection with the issu /or claims made against LAACC	nentation as is necessary to verify the nying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.

2025
ay 01,
M V Q
917e3c
:13a5e
9480-68
0-594
-A-CO
_

-

\_\_\_\_

Authorized Signature Farhad Ghorbani Fard

-----

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTG		LA-COO-594 May 01, 2025	480-6813a5e17e3cb
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street	Transport Typ Vessel	e	Port of Loadir Los Angeles	ng
Wilmington CA USA	Destination C Taiwan	ountry	Destination P Taipe	ort
Consignee White Fox Global Co. Ltd.	Export Date		Exporting Car	rier
No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit	Number	Bill of Lading	/ AWB
Taiwan	Owner or Agen		Forwarding A	gent
Buyer (Importer)	Remarks Consignor re	ference: ACE1052.WF		
<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages	5.)	Weight	Country of Origin
Emerald Bay (6.4%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 6 kegs Revision DIPA (8.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 5 kegs	c <sub>0.</sub>		132.00 110.00	United States United States
Nami IPA (6.5%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 19 cases	COMMERCE	2	228.00	United States
Journey Ahead IPA (7.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 20 cases	RIGIN	2	240.00	United States
Swami's I.P.A. (6.8%) - 473ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 19 cases		2	228.00	United States
Mongo DIPA (8.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases	5P2		120.00	United States
Ponto S.I.P.A. (4.5%) - 473ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases			120.00	United States
Name of Authorized Trade Association		The Applicant (or the Applicant on bel	half of the Consignor), by ut	tilizing this document, certifies that:

	SUPPOPAL CHAMBER OF COMMEN
SAREA CHAMBER ON	CERTIFICATE OF ORIGIN Accredited Chamber   US2100201
	TORO HAMBERS FEDERATION
	74 MBERS FEUL
USA Authorized Signature Farhad Ghorbani Fard	Z

- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
In consideration for the LAACC's issuance of this Certificate, the Applicant ages to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA	CERTI	IFICATE (	OF ORIC	CIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-59480-6813a5e17e3cb VERIFY.FTGS.US Date : May 01, 2025				
Seller (Exporter) AMERICAN CRAFT EXPORTS LLC 901 East E Street			Port of Loading Los Angeles	Port of Loading Los Angeles	
Wilmington CA USA	Destination Cou Taiwan	Destination Country Taiwan		Destination Port Taipe	
Consignee	Export Date			Exporting Carrier *********	
White Fox Global Co. Ltd. No. 12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit N	lumber	Bill of Lading /	Bill of Lading / AWB *************	
New Taipei City 242 Taiwan	Owner or Agent		Forwarding Age	ent	
Buyer (Importer)	Remarks			जिक्ष अक्षान	
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Packages.)		Weight	Country of Origin	
Smog City IPA (7.2%) - 20L Plastic Keg			220.00	United States	
H.S.Code: 2203.00.0000 Marks: Smog City, 10 kegs					
end of products	252100201				
Name of Authorized Trade Association		prigin applicable in the country(ies) The information in this certificate a commerce ("LAACC") is accurate, tr The Applicant undertakes to adviss Certificate (or to whom the Certifica of any inaccuracy, omission or char The Applicant will maintain, and pr ruth, accuracy and completeness of In consideration for the LAACC's is	ate in the country(ies) specified to those goods. Ind in any documents provided t ue and complete. LAACC and any other person(s it is provided to with the knowli- inge in such information, or in the esent upon request, such docum of this certificate and accompan suance of this Certificate, the A vility in connection with the issue or claims made against LAACC	above and comply with the rules of o the Los Angeles Area Chamber of ) to whom the applicant provides this edge of the Applicant) promptly in writing origin of goods. tentation as is necessary to verify the ying documents. opplicant agrees to release, discharge and nice of this certificate and to indemnify in connection herewith.	

# Invoice

Date	Invoice #		
4/10/2025	ACE1052.WF.		

#### Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

### Ship To

		P.O. No.	Terms	Project
			Due on receipt	
MPN	Description	Invoiced	Rate	Amount
Sierra Nevada	Hazy Variety Pack - 355ml 2x12pk case of aluminum cans			
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Cosmic Little Thing (8.0%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Tropical Little Thing (7.0%) - 355ml cans	240	1.20417	289.0
Sierra Nevada	Hoppy Little Thing (5.0%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans	10	28.90	289.00
Sierra Nevada	Hop Tropical IPA (6.5%) - 355ml 4x6pk case of aluminum cans	20	28.90	578.00
Sierra Nevada	Rad Little Thing WC Hazy IPA (7.0%) - 355ml 4x6pk case of aluminum cans	20	28.90	578.00
Sierra Nevada	Juicy Little Thing (6.5%) - 355ml 4x6pk case of aluminum cans	10	28.90	289.00
Sierra Nevada	Hoppy Little Thing (5.0%) - 355ml 4x6pk case of aluminum cans	10	28.90	289.0
Sierra Nevada	Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles	40	25.85	1,034.00
Sierra Nevada	Torpedo Variety Pack - 355ml 2x12pk case of glass bottles			0.0
Sierra Nevada	Torpedo IPA (7.2%) - 355ml bottles	474	1.2375	586.5
Sierra Nevada	Electric Torpedo IPA (7.5%) - 355ml bottles	474	1.2375	586.5
Sierra Nevada	Atomic Torpedo IPA (9.2%) - 355ml bottles	474	1.2375	586.5
Sierra Nevada	Phantom Torpedo IPA (6.0%) - 355ml bottles	474	1.2375	586.5
Sierra Nevada	Big Little Thing (9.5%) - 568ml 15pk case of aluminum cans	18	28.75	517.5
Sierra Nevada	Pale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg	75	61.15	4,586.2
Sierra Nevada	Hazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg	50	69.10	3,455.00
Sierra Nevada	Torpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg	30	65.20	1,956.0
Sierra Nevada	Sunny Little Thing (5.0%) - 18.9L Steel "Sierra Nevada" Keg	10	69.10	691.00
8 Bit Brewing	Local Cantina Mexican Lager (4.8%)- 473ml 6x4pk case of aluminum cans	10	77.00	770.00
		Тс	otal	
TEA CHAMBE		Payments/Credits Balance Due		

# Invoice

Date	Invoice #			
4/10/2025	ACE1052.WF.			

#### Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

### Ship To

		P.O. No.	Terms	Project
			Due on receipt	
MPN	Description	Invoiced	Rate	Amount
8 Bit Brewing	True Brewmance WC IPA (7.1%) - 473ml 6x4pk case of aluminum cans	]	10 83.50	835.00
8 Bit Brewing	God Of Pour (7.1%) - 473ml 6x4pk case of aluminum car	ns 1	96.50	965.00
8 Bit Brewing	The Gallery Hazy IPA (7.5%) - 473ml 6x4pk case of aluminum cans		96.50	965.00
8 Bit Brewing	The 8th Wonder Hazy DIPA (8.0%) - 473ml 6x4pk case aluminum cans	of	10 109.50	1,095.00
8 Bit Brewing	Mario Tart: Pharaohs Circuit (6.3%) - 473ml 6x4pk case aluminum cans	of	10 109.50	1,095.00
8 Bit Brewing	The Eye of Souron Sour DIPA (9.1%) - 473ml 6x4pk cas aluminum cans	e of 1	10 122.50	1,225.00
Casa Agria	Mango Con Crema Imperial Sour Ale (8.0%) - 473ml 6x4 case of aluminum cans	4pk	10 95.50	955.00
Casa Agria	Space Craze Hazy IPA (6.5%) - 473ml 6x4pk case of aluminum cans	1	68.50	685.00
Casa Agria	Full Blaze WC IPA (6.5%) - 473ml 6x4pk case of alumin cans	ium 1	64.50	645.00
Casa Agria	Westliner West Coast Pilsner (5.5%) - 473ml 6x4pk case aluminum cans	of	68.50	685.00
Casa Agria	Ghost Bat Hazy IPA (6.6%) - 473ml 6x4pk case of alumi cans	num	15 81.50	1,222.50
Casa Agria	Solimar West Coast IPA (7.0%) - 473ml 6x4pk case of aluminum cans		10 81.50	815.00
Casa Agria	Fully Blazed DDH WC IPA (6.5%) - 473ml 6x4pk case c aluminum cans	of 1	10 87.50	875.00
Ambitious Ales	Gandalf the Crisp (5.0%) - 473ml 6x4pk case of alulminu cans	im 1	10 103.00	1,030.00
			Total	1
L CHAMP.			Payments/Credits	6
			Balance Due	

# Invoice

Date	Invoice #		
4/10/2025	ACE1052.WF.		

#### Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Shi	рT	ō

			P.O. No.	Terms	Project
				Due on receipt	
MPN	Description	•	Invoiced	Rate	Amount
Ambitious Ales	Professional Human Being Hazy IPA (7.2%) - 473ml 6x4 case of aluminum cans	4pk	10	116.00	1,160.00
Ambitious Ales	Tiger Den WC IPA (7.2%) - 473ml 6x4pk case of alumin cans	um	10	116.00	1,160.00
Ambitious Ales	Batman Rapids WC IPA (7.5%) - 473ml 6x4pk case of aluminum cans		10	103.00	1,030.00
Ambitious Ales	Berry Shower (7.0%) - 473ml 6x4pk case of aluminum ca	ans	10	116.00	1,160.00
Revision Brewing	Revision IPA (6.5%) - 355ml 4x6pk case of aluminum c	ans	10	35.50	355.00
Revision Brewing	Revision DIPA (8.0%) - 355ml 4x6pk case of aluminum	cans	10	39.50	395.00
Revision Brewing	Dr. Lupulin 3x IPA (11.3%) - 473ml 6x4pk case of alum cans	inum	10	78.50	785.00
Revision Brewing	Emerald Bay (6.4%) - 473ml 6x4pk case of aluminum ca		10	52.50	525.00
Revision Brewing	Disco Ninja Northeast-Style IPA (7.0%) - 473ml 6x4pk o of aluminum cans	case	10	59.00	590.00
Revision Brewing	Vegas As Fuck (6.5%) - 473ml 6x4pk case of aluminum		15	65.50	982.50
Revision Brewing	Reno As Fuck (8.4%) - 473ml 6x4pk case of aluminum c	ans	15	72.00	1,080.00
Revision Brewing	Revision IPA (6.5%) - 20L Plastic Keg		9	92.00	828.00
Revision Brewing	Disco Ninja Northeast-Style IPA (7.0%) - 20L Plastic Ke	g	8	105.00	840.00
Revision Brewing	Reno As Fuck (8.4%) - 20L Plastic Keg		6	118.00	708.00
Revision Brewing	Vegas AF (6.5%) - 20L Plastic Keg		6	111.50	669.00
			To	otal	
L CHAMO		Payments/Credits		5	
		Balance Due			

# Invoice

Date	Invoice #		
4/10/2025	ACE1052.WF.		

#### Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

### Ship To

		P.O. No.		Terms	Project
				Due on receipt	
MPN	Description	Invoic	ed	Rate	Amount
Revision Brewing	Emerald Bay (6.4%) - 20L Plastic Keg		6	92.00	552.00
Revision Brewing	Revision DIPA (8.0%) - 20L Plastic Keg		5	102.50	512.50
Pizza Port	Nami IPA (6.5%) - 473ml 6x4pk case of aluminum cans		19	45.00	855.00
Pizza Port	Journey Ahead IPA (7.0%) - 473ml 6x4pk case of alumir cans	um	20	45.00	900.0
PIzza Port	Swami's I.P.A. (6.8%) - 473ml 4x6pk case of aluminum of	ans	19	44.00	836.0
Pizza Port	Mongo DIPA (8.0%) - 473ml 6x4pk case of aluminum ca		10	44.00	440.00
Pizza Port	Ponto S.I.P.A. (4.5%) - 473ml 4x6pk case of aluminum c	ans	10	36.00	360.00
			To	tal	\$49,330.57
REA CHAMBER			Pa	yments/Credits	\$0.0
			Ва	alance Due	\$49,330.5

